LY zelad] 2850 (1o cilad) 120 Jraxi o

almahah).com/ae

Q2

Lo Lia) slgall zramg Cigial] graxd Jac Gl sl (e Jguamll¥

https://almanahj.com/ae

Lie i) plad) e (S Codll slge guaxd Joo Gyl e Jguamld *
https://almanahj.com/ae/12
Lis i), Jgaid] guaxdy linly; 8ale (48 pladl e (Sl Caad) Gl sl guax (e Jguamld *

https://almanahj.com/ae/12

Lis bas) o Lol il 83l (46 plad) ptie (S Caad) alge zuaxd oo Gl gl (e Jguamdd *
https://almanahj.com/ae/12
L bzl pld) jie Gl Caall U Jguat)) graz> (48 algall graz iS Jraxi) *
https://almanahj.com/ae/grade12
Lo bao) iplali (de maliadl cog () chasill

https://t.me/almanahj_bot



https://almanahj.com/ae
https://almanahj.com/ae
https://almanahj.com/ae/12
https://almanahj.com/ae/12
https://almanahj.com/ae/12
https://almanahj.com/ae/12
https://almanahj.com/ae/12
https://almanahj.com/ae/12
https://almanahj.com/ae/grade12
https://almanahj.com/ae/grade12
https://t.me/almanahj_bot
https://t.me/almanahj_bot
http://www.tcpdf.org

oyl guby e ple 12 J Sluolyl 8Ls b
https://t.me/mathbook12GEN

23l Jlg Ml g2

Which of the following is an even fdaag) ddle ad L Laa ‘-fi

URSCSRY IRV
- /

function?

O flx)=x3-2x

O fx)=x° '(gC'-;c) = ﬁﬁx) 5

O flx)=2a3

i
IO
N

0%



dloVl Jlgal 2yas

Identify the parent function f (x) of J f(x) dlall A ads
h(x)=[x]-5. .h(x) =[x] -5
Y
= . - ] \ "‘p "J a
O flx)=x ’ J o) ‘ P g Z:Z-—
O f(x)=x+5 S b
O fw) = [x] g ’,/I cJid ] <
)
O fx)=x-5 ’ d
+ 7 &“j’.‘”/‘: &
C 2

0%



I polymin] Q

No Limit l/_\|1—1‘@¢§

o izl Jlgad O g=ill
256 State the phase shift of
= cos (f + E)
M 3" 2/

x -b
3
21
© 3 55y C
Zz = ) x 3
o T - "

(]
|
C
>

0%



No Limit l/_\|1—1‘@¢‘§

i ]

Determine all the zeros of

the function
f(x) = x* — 4x3 — 32x2%.

O x=-8x=—-4x=0

O x=-8x=0x=4

€x=—4,x=0,x®
I

O x=0x=4x=8

f ()

E(

"

*)

Jlgw palziw] Q

3932l 3,88 Jlgall

) sl s ol
JS(x) = x* — 4x3 — 3247

(2 ~yx ~32)
£ (x # 4)0— %D

— /\;«ﬂ"/'

n+Y4 o = (& =~
x-3=o=>(e=¥

0%
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NoLimitI/_\|1—1‘@¢‘ﬁ

o duudd| Oluliell J>
355 Solve the inequality: 1Al s
2x—3>1 2x—3>1
xX+4 x+4 =
2%X-3 _| zo DEdsadtiad
O (—»,—4]U[7,) =tk (F) 100,

O (—%,-7)u (4,x) Z iU

Zo°
@ (—©,—4)U[7,) z xh v

O (~o,—4) U (7,) -

0%



Jlgw palziw] Q

No Limit | [J | e 1-1 [ €4 B — =

o duilioll Jlgal) syl il
250 Find the value of the expression: sl dagd aagl
. _1v2 2
sin (Zcos 7) ' JL  sin (Zcos‘1 %)

AW I A
© -1 *: c.,;‘ f_q'. :
- /ﬂ-‘
1
O E s W o _-)::—_ ‘FZ,. b
I
O o d

0%



Jlgw palziw] Q

No Limit | [ (e 1-1 [ ¢ B |

349 Write a polynomial function of least Clag da g S8 e agasd) ByS Al iis)
degree, with real coefficients, and i 5V55 — /5 Gacatiy Ldida cdllas
that has —/5,+/5, and { among its Aulidl) dinall il G

zeros, in standard form.

O fx)=x*—4x*-5 .,
O f(x)=x—ix*-5x—5i b
O f(x)=x*—ix*-5x+5i <
O fx)=x*—4x*+5 d

0%



Jlgw palziw] Q

No Limit | [ e 1-1 0 R B

) duaiyylegll Jlgal
e Determine the vertical asymptote of Aall ) il Jad ke
. _ 1 _ 1 P
thefunctlony—ln(x+§)—3. .y—ln(x+§)—3 —_— .\p',,;
Los —
rY /%5
el
4 e £~ ‘V\ x

0%



Jlgw palziw] Q

NoLimitl/_\|1—1‘@¢§

o Slaiylesll pailas
a5 Condense the expression eadl) Bl
4 4
log,15 + 6 log,x — 3 log,x log,15 + 6 log,x — 3 log,x
where x > 0. X >0 Qs

4
é 3
,092- ts + ’olx - [0(77- (7‘)
3
- ,a:) f,;_'s’-

o1 15x°
ngﬁ X

é

15x°
o lngW ¢ b
|5 x
. - l03 —
o logzlgsix T \‘7-1' c
Vxt
| 5 6
o 10g2154—+x‘5 X —_ IOJ * __— d
Vx - 3 ]
2 Jz X
_ 6
|o [ L
) T U<
6
| & X

0%



Jlgw palziw] Q

NoLimitm;M1—1‘@¢‘§ =
e O\ ladl >

Solve the equation: rddaleall A
3x

B Q" 5 = 6 =0

0%



Jlgw palziw] Q
No Limit | [ (e 1-1 [ ¢ B =

o Llgyl Slwlis

155 Identify the angle that is coterminal e olgi¥) gl B Agidal) Aughl) ada
with the angle —g . .= g daghl)

o’\/\;;’\ u»f-}\' T’L\(ﬁ,_,: PYRWAR /

!zfﬁ;‘;‘;u}t

o1 (£1) ’
@) E+nn’ Zﬁ( il) <
5
P (<l (:‘:.Z)
T
(@) —§+mr > ?,ﬁV\ n d
o

V\ -~

)8
[;9;1

0%



Jlgw palziw] Q

NoLimitm;M1—1‘@¢‘§ =
o --".'.I.'. II . .II P..‘.La
Find the value of the expression: sl sk aagf
tan (— 5_11') tan (— 5_1r)
4 4
w— V) UYL
V2
© -7 R (,\::U‘ S\
o1 b
o Y2 :
2

0%



NoUth]!!H1—1‘§acfEi
(i}

Find the inverse function of
4 —x

flx) = p” ,x + 0.
1
o) f‘l(x)=x_4,x¢4
-1 _ _
O r (x)—x+4,x¢ 4
O W= —gx*1

Jlgw palziw] Q

dpwsSsll Jlgall >l

2 diasal) ALl aagf

x#0 cf(x)=4_x
4 ~x
x -a
arve}/}—: 2 Jr
T )



Jlsw polysiw] Q

No Limit | [ e 1-1 0 R B =
o &,z dsleall J>
i Solve the equation v2x — 10 = 4. AN2x — 10 = 4 dalaad) Ja

5 o By 2
O -4 (G e “ .
2% -\b = Y
O 7 2% 10 _ 14 b
O -13 x =16+1° :
2
13
© z - 13 ’

BYTRURTIT A P N <IN PSR A

0%



Jlgw palziw] Q

No Limit | [ (e 1-1 [ ¢ B =
i) Jolllg (8Ll oy i

Which is a factor of Jole aad L Laa o
x5 —xt 4+ 2x% —4x — 47 x5 — 2t 4 2x2 — 4x — 4

©= L}W‘L‘J)S Z,J/"_,ﬂ Sl |

4

O x-2 . a
._5!1 ~\ o 2 -4 V=M

-1 ' .

O «x / -\ ,2- —a s VX b

O x+2

0%



No Limit [:lw1—1@¢'§
(i

A team of climbers must determine
the width of a ravine in order to set
up equipment to cross it.

If the climbers walk 25 m along the
ravine from the chosen crossing
point, and sight the crossing point
on the far side of the ravine to be at
a 35° angle, how wide is the ravine?

Round to the nearest tenth.

® X=17.5m

O X=20.5m

O X=35.7m

O X=14.3m

0%

Jlgw palziw] Q

ol dajlill Oliliel J>

Gl G Cpludall Ga (3ud aaan O
Loy giad AU @lgl) Sugat

Cra galgll Blilaey 25 m & ghlaiall jlu 1)
Al ) 190 ¢ gl Aaadnal) dladil)
Aghs sl Basmd) dgall (e gl

fglsll pas 05 ash (35° Loy
ke Oasda gl o d

= B x®©
\\\ {‘an 3b = 25
_35° 35

V1.

1

UM



I polysin] Q

No Limit | [ (e 1-1 [ ¢ B

i) JlgJl eus slul
If h (x) = x* + 8x — 4, ch(x) =x% + 8x—4 )
find h (—2). -h(=2) x4

hi2) = (-2) 48(-2) -4

(@) -8 - a
= 4 -6 ~Y4

( ® -16 ) - _\6 .

o) -12 c

o —24 d

0%



I polysin] Q

No Limit | [ e 1-1 0 R B

o Jlgall iyl Jglul iuog
B

2:56 1 y
I‘l Which of the following statements Lgmaladiie) (€as ALY ) jlanll _f
- could be used to describe the end $f (x) Al L8kl dlgludl) Liagl
re) :
behavior of f(x)?
Fx) /
| 1 | } '
oy
o lim f(x) = —co, lim f(x) = o a
X——00 X—00
O Jim £(x) = —o0, lim f(x) = —0 -
O lim f(x) =, lim f(x) = « <
X——00 xX—00
® Jim f(x)=co, lim f(x) = —oo ) )
—

0%



No Limit | [ (e 1-1 [ ¢ B

i ]

Given oiu'a)ﬁ:-
f@=Va—Tandg (@) =2"+9, g@=a"+9, f()=Va—1
find [ g](2)- 1f 0 gl(x) 2
(9"“‘)) (x) = % (3“‘-’)
2 _
° e = P (#*9)
O x+8

:JL;‘L-\‘) Y ~)

0%
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Jlsw polysiw] Q

No Limit | [ (e 1-1 [ ¢ B

(i) duilied| yuleidl oy
8 Rewrite 1 as an expression Ay sl B 5 1 s acf
secx+tanx P s Gl e gﬁ secx+tanx ©
that does not involve a fraction. LS
) x S x -~ tonz
@ secx —tanx secy 4 domX Sec yx — tam¥ P
- 7/
Uy Vo
O secx + tanx S€cx — Lo~n ~ \ a )b
- — tonr WX o = S@e %
L z
Sec X — dkew & ‘ —
O -—secx + tanx <

"

sec ¢ — komx
1 d

:‘secx_‘f.omx.'

O -—secx —tanx

0%



